Sprendimai / Solutions
I turas /I round

I. Leo Erland Valve, Schackvarlden 1934
1.¥d71 (5) (2. Le6#)

II. Gyorgy Bakcsi, Tournoi Olympique, Novi Sad 1990
1.2c6! (2. ¥ g4+ (2) ®e5 3. Hd5#)

1. We4 2. Dg4 (1) (3. ®es#) Lf6+ 3. Efe#

1... W44 2.hg (1) (3. ¥ f5#) L fo+ 3. E fot

1... Weq 2 ha (1) (3. ¥o5#) &6+ 3. Hfo#

II1. Bikrop Muxkomnaiiosuu Cizonennko, Hagemann Ty 2006-08-23
1.2902! h1W+ 2 &h1 €h3 3.7 (1) £d2 4. 264+ (1) &4 5.Dg5+ g3 6.2h3 (1) Le5
7.20g1 (1) Ac3 8.Re2+ (1) Ae2 (patas / pat)

IV. N. Dupont, Phenix 2002
1.2e5 £g82.2 7 Hca+3.%d5 L7# (2,5)
1.8b1 Eg52. 8¢5 Hoa+ 3,415 Le6# (2,5)

V. Gustav Buchmann, Arbeiter-Schachzeitung 1921
1.2 g6! (2. En6#)
1...hg 2.g3+ ¥h5 3. ®a8 (5) (lukuriavimas / zugzwang)

VI. Leonid Makaronez / Jleonnn AGpamoBud Jlrobamescrkuii, Die Schwalbe 2003
1.He2! (+1) (2. He3+ Le3+ 3. ¥d4+ (1) £d4t)

1. Wo3 2 ¥d5+ 4 3 Mes5+ (1) Eest

1... Wep 2. \d6+ 2e5 3. ¥ c3+ (1) Ec3#

l... 2b52. 2.3+ 3 3. He5+ (1) Ees#

VII. Kjell Widlert, The Problemist 1971
1.2d4! (5) (lakuriavimas / zugzwang)



Sprendimai / Solutions
II turas / II round

VIII. Walter Usath, Die Schwalbe 1924
1.2h2! (5) (lakuriavimas / zugzwang)

IX. Norman A. Macleod, The Problemist 1978
1.2.a4! (2.c7+) (1)

1... Ed1 2.2a8 (0,5)

. Ec62.9a8(0,5)

. 2d32.9¢8 (1)

. £c22.20d7(1)

. 2c62.Hel (1)

[ N GG W

X. Grzegorz Grzeban, 64 1936
1.Qe3 %2 Qg2 (1) g3 3.2c8 (1) g2 4. Lb7+ @h3/%g3 5.De7 (1) ©gd 6.L16 (1)
“hs 7. 2.3# (1)

XI. A. Toger, Phenix 2002
1.912 213213 2g43.9h] Efl 402 L3# (2,5)
193 ef2.02 D2 3.e18 gl 4.803 292#(2,5)

XII. Emil Klemanic, 5 WCCT 1993-97

1.¥e21 (2. % d3#)

l... Me2 2. 245+ 045 3. Hd8+ ¥eq 4. Hd5 €45 5.g8Q (2,5)
1. £e22. 265+ ¥of53 Hf3+ %ed 4 EHf5 @155 08% (2,5)

XIII. Jozet Wimmerth, Deutsche Schachzeitung 1914
1.2 d6! (lukuriavimas / zugzwang) (+0,5)

1... 808 2. He6+ (1,5) Leb#

1... Ebd+2.Ded+ (1,5) Eg3#

1...ab 2.2h3+ (1,5) Eg3#

XIV. Hans Uitenbroek, Phenix 1994
1.403 2632 815 ©14# (2,5)
1.Ah6 Hg7 2. Ef5+ ©g6# (2,5)



Open Solving Tournament Lithuania 2021 (Lithuania, Vilnius 19.06.2021)

Problems Difficulty (8 Solvers)

ID| Tag |Difficulty|Average|S(Correct Solution)|0 < Pts. < 5|0 (Wrong Solution)|- (No Solution)
6 | S#3 950] 0.25 0 1 5 2
14|Fairy 876 0.62 1 0 3 4
3| = 8501 0.75 1 1 5 1
10] + 724 1.38 2 1 4 1
91 #3 700 1.50 1 2 2 3
12| #6 688| 1.56 2 1 1 4
7 |Fairy 624| 1.88 3 0 3 2
2| #3 500 2.50 4 0 2 2
51 #4 500] 2.50 4 0 0 4
4 | H#3 438 2.81 3 3 0 2
11| H#4 188] 4.06 6 1 0 1
8| #2 124 4.38 7 0 1 0
1| #2 0f 5.00 8 0 0 0
13| S#2 0f 5.00 8 0 0 0

| Created by WFCC Solving Tournament Manager |






